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[.Answer any FIVE questions of the following: 5x2=10

a) Define path and cycle with proper example.

b) Define Cut set and Cut vertex with a suitable example.

c) How many perfect matchings are there in a complete graph of a
6 vertices?

d) Define clique of a graph with example.

¢) Is Ko a planner graph? Justify.

f)  Define complete graph with proper example.

g) Deline chromatic number of a graph. Find the chromatic number
of a cycle of odd length.

) Prove that ifin a graph G there is one and only one path between

every pair ol vertices, (s a tree.
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Answer any FOUR questions of the following: 5x4 =20
Show that K33 is a non planner graph.

Draw atleast 3 non-isomorphic graph of 4 vertices.

What do you mean by complement of a graph? Find the complement
of Cs graph. Define independent set.

Show that any simple connected planner graph satisfy the

inequality e <3n—6 where n and e are the number of vertices

and edges of the graph respectively.

Show that a simple graph with n vertices and k components can

(n—k)Yn—-k+1)
2

have atmost edges.

Let G = (V,E) be a simple graph, where |V| =n23. If for every
pair of nonadjacent vertices w.v € V', deg(u) +deg(v) 2 n holds,

then the graph G is Hamiltonian.

Answer any one question of the following: 1x10 =10

i) Show that the number of pendent vertices in a binary tree is

n+l . . . ]
2 where n is the number of vertices in the tree.

i) Find incidence and adjacency matrix of the following graph:
545
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b) Find the MST for the following graph using Prim’s algorithm.

Explain it.

How will you find minimal independent set? Explain. 6+4
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